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A& =8 (Labb)
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Fojols m2aUS By,
e+ Mr8sto] Z2aefUstH, X HE 42| 0| 52 RecurPrint2
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%, main &0)|A = RecurPri =

rintS o Y S E30, RecurPrint &
LHOfl M| CIA] RecurPrint E4-8 SZ8t= HEfjz =2 2L & A

»

%o M= LIS U : 4
4. Hello!
3. Hello!
2. Hello!
1. Hello!
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A
H45 &M (Labb6)
y TS ME & topM |y 'goﬂt‘?'(GCD)% Fe= ZzOUS
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00| EC}.

et int Find_GCD (int num1, int num2)
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A4S 2H (Lab7)

X7t Eofst= A F9| siU7 229 MY E|ZZ0| DVD SHHES
gald, 4 FHM ZAHEAHEE *PHII Holl Sof7h= 20|t
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DVD $HH EH0137r 1,500 (M=o A3}

A7 500, M<Z: 7003, E2}: 400 (H52| &2

AEANF|= =S X RS2 e "UFAF|I= 0| E&LICH 2D
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4= HEl: void find_opt (int num), num: &

iz gAo] £235t0 e 3 (>= 5000 && <= 7000): 5000
S 2iu 17}, A7 27Y, aa} 474

am o7), W22 3%, B2t 17}
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of g PelSpAIAB LN

54

45 =M (Lab8)

Z2M AEXR2EE X(second)E YUY W2 F, 0|8 (A, &, )9
HE 2 S2st= TR O3S XA SHoia)

k4= HEl: void find_time (int second)

X (second) ¥=: 3615
[h: 1, m: 0, s: 15]
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A& A1ZF (20199 6H 12Y)

« O & 2%X|: LocalVariable.c, AnotherLocalVal.c, LocalValHideVal.c,
GlobalVariable.c, LocalValHideGlobalVal.c, StaticLocalVariable.c,
RecursiveFunc.c, RecursiveFactorial.c,

« A& 2X: Lab5, Lab6, Lab7, Lab8
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